表 77 特約醫事服務機構住院費用核付狀況 —按權屬別分

中華民國九十三年 單位:件,點,日 日數 件數 權屬別 Inpatient-Ownership Cases Days 總 計 **Grand Total** 2,920,563 29,153,296 醫院 Hospitals 2,848,853 28,913,795 **Public Hospitals** 公立醫院 870,108 10,754,296 行政院衛生署所屬醫院 Hospitals Subordinate to DOH and Municipal 319,271 4,517,482 及市立醫院 Hospitals 縣市立醫院 County & City Hospitals 29,348 236,565 公立醫學院校附設醫院 Hospitals Affiliated with Public Medical Schools 112,616 1,113,460 軍方醫院(民眾診療) Civilian Clinics of Military Hospitals 156,644 1.540.825 榮民醫院 Veterans Hospitals (VACRS) 250,052 3,283,357 機關(構)附設醫院 Hospitals Affiliated with Enterprises 2,177 62,607 公立中醫醫院 Public Hospitals of Chinese Medicine 1,978,745 18,159,499 私立醫院 **Private Hospitals** 財團法人醫院 Non-Profit Proprietary Hospitals 899,001 7,616,783 Hospitals Affiliated with Non-Profit Proprietary 宗教財團法人附設醫院 100,361 772,535 Religious Organizations Hospitals Affiliated with Medical Schools 醫學院校附設醫院 183,231 1,587,924 Hospitals Affiliated with Other Non-Profit Proprietary 其他法人附設醫院 54,703 773,802 Organizations 私立醫院 Private Hospitals 741,449 7,408,455 私立牙醫醫院 Private Dental Hospitals 私立中醫醫院 Private Chinese Medical Hospitals Clinics 71,645 239,276 診所 **Public Clinics** 公立診所 行政院衛生署所屬診所 Clinics Subordinate to DOH and Municipal Clinics 及市立診所 縣市立診所 County & City Clinics 衛生所 Health Stations 公立學校附設醫務室 Clinics Affiliated with Public Schools 軍方診所 Civilian Clinics of Military Clinics (民眾診療附設門診部) 榮民診所(榮家醫務室) Veterans Clinics (VACRS) 機關(構)附設診所 Clinics Affiliated with Enterprises 公立中醫診所 Public Clinics Practicing Chinese Medicine

備註:資料更新日期爲94年5月15日,核付進度爲97.5%。

Table 77 Approved Inpatient Benefit Payments by Contracted Medical Care Institutions — by Ownership

	2004		Unit: Case,RVU,Day
點 數 Expenditures	平均每件點數 Average Cost Per Case	平均每件住院日數 Average Length of Stay	平均每日點數 Average Cost Per Diem
137,741,233,594	47,163	9.98	4,725
136,037,076,220	47,752	10.15	4,705
45,102,983,711	51,836	12.36	4,194
13,094,604,652	41,014	14.15	2,899
1,065,195,082	36,295	8.06	4,503
8,385,670,079	74,463	9.89	7,531
6,871,603,261	43,868	9.84	4,460
15,511,810,206	62,034	13.13	4,724
174,100,431	79,973	28.76	2,781
-	-	-	-
90,934,092,509	45,955	9.18	5,008
46,094,287,775	51,273	8.47	6,052
3,769,398,446	37,558	7.70	4,879
10,205,064,539	55,695	8.67	6,427
2,214,088,160	40,475	14.15	2,861
28,651,253,589	38,642	9.99	3,867
-	-	-	-
-	-	-	-
1,703,273,574	23,774	3.34	7,118
•	-	-	-
-	-	-	-
-	-	-	-
-	-	-	-
-	-	-	-
-	-	-	-
-	-	-	-
-	-	-	-
-	-	-	-

Note: The data is updated on May 15,2005; moreover, the rate of progress in claims processing is 97.5% as of that date.

表 77 特約醫事服務機構住院費用核付狀況 一按權屬別分(續完)

中華民國九十三年 單位:件,黑	5,日
-----------------	-----

-		位:件,點,日
權屬別 Ownership		
Private Clinics	71,645	239,276
Clinics Affiliated with Non-Profit Proprietary	-	-
Clinics Affiliated with Religious Non-Profit Proprietary Organizations	-	-
Clinics Affiliated with Private Schools	-	-
Clinics Affiliated with Enterprises	-	-
Private Clinics	71,645	239,276
Private Dental Clinics	-	-
Private Clinics Practicing Chinese Medicine	-	-
Other	-	-
Other Non-Profit Proprietary Hosp. & Clinics	-	-
Pharmacies	-	-
Nursing Institutions	65	225
Public Nursing Institutions	-	-
	-	-
Nursing Institutions Affiliated with Other Non-	-	-
Personal Nursing Institutions	63	213
Nursing Institutions Affiliated with Public Med. Care Institutions	-	-
Care Institutions	-	-
Nursing Institutions Affiliated with Non-Profit Proprietary Med. Care Institutions	2	12
Other Nursing Institutions	-	-
Psychiatric Rehabilitation Institutions	-	-
Public Psychiatric Rehabilitation Institutions		
Non-Profit Proprietary Psychiatric Rehabilitation Institutions	-	-
Private Psychiatric Rehabilitation Institutions	-	-
Psychiatric Rehabilitation Institutions Affiliated with Public Medical Care Institutions	-	-
Psychiatric Rehabilitation Institutions Affiliated with Private Medcial Care Institutions	-	-
Psychiatric Rehabilitation Institutions Affiliated with Non-Profit Proprietary Medical Care Institutions	-	-
	Private Clinics Clinics Affiliated with Non-Profit Proprietary Organizations Clinics Affiliated with Religious Non-Profit Proprietary Organizations Clinics Affiliated with Private Schools Clinics Affiliated with Enterprises Private Clinics Private Clinics Private Clinics Practicing Chinese Medicine Other Other Other Non-Profit Proprietary Hosp. & Clinics Pharmacies Nursing Institutions Public Nursing Institutions Nursing Institutions Affiliated with Non-Profit Proprietary Organizations Nursing Institutions Affiliated with Other Non- profit Proprietary Organizations Personal Nursing Institutions Nursing Institutions Affiliated with Public Med. Care Institutions Nursing Institutions Affiliated with Non-Profit Proprietary Med. Care Institutions Other Nursing Institutions Psychiatric Rehabilitation Institutions Psychiatric Rehabilitation Institutions Private Psychiatric Rehabilitation Institutions Private Psychiatric Rehabilitation Institutions	Private Clinics Clinics Affiliated with Non-Profit Proprietary Organizations Clinics Affiliated with Religious Non-Profit Proprietary Organizations Clinics Affiliated with Private Schools Clinics Affiliated with Enterprises Clinics Affiliated with Enterprises Private Clinics Private Clinics Private Dental Clinics Private Dental Clinics Private Clinics Practicing Chinese Medicine Other Other Other Non-Profit Proprietary Hosp. & Clinics Pharmacies Nursing Institutions Nursing Institutions Nursing Institutions Affiliated with Non-Profit Proprietary Organizations Nursing Institutions Affiliated with Other Non-profit Proprietary Organizations Nursing Institutions Affiliated with Public Med. Care Institutions Nursing Institutions Affiliated with Private Med. Care Institutions Other Nursing Institutions Other Nursing Institutions Other Nursing Institutions Psychiatric Rehabilitation Institutions Non-Profit Proprietary Psychiatric Rehabilitation Institutions

Table 77 Approved Inpatient Benefit Payments by Contracted Medical Care Institutions — by Ownership (Cont'd)

	2004		Unit: Case,RVU,Day
點 數 Expenditures	平均每件點數 Average Cost Per Case	平均每件住院日數 Average Length of Stay	平均每日點數 Average Cost Per Diem
1,703,273,574	23,774	3.34	7,118
-	-	-	-
-	-	-	-
-	-	-	-
1,703,273,574	23,774	3.34	7,118
-	-	-	-
-	-	- -	-
-	-	-	-
-	-	-	-
883,800	13,597	3.46	3,928
-	-	-	-
-	-	-	-
-	-	-	-
839,800	13,330	3.38	3,943
-	-	-	-
-	-	-	-
44,000	22,000	6.00	3,667
-	-	-	-
_	- -	- -	- -
-	-	-	-
-	-	-	-
-	-	-	-
-	-	-	-
-	-	-	-